

UCSF

UC San Francisco Previously Published Works

Title

Relationship Between Cooking Fuel and Lens Opacities in South India: A 15-Year Prospective Cohort Study

Permalink

<https://escholarship.org/uc/item/95t6j542>

Journal

American Journal of Ophthalmology, 243

ISSN

0002-9394

Authors

Nesemann, John M
Srinivasan, Muthiah
Ravindran, Ravilla Duraisami
[et al.](#)

Publication Date

2022-11-01

DOI

10.1016/j.ajo.2022.06.021

Peer reviewed

Relationship between cooking fuel and lens opacities in South India: a 15-year prospective cohort study

Running head: Cooking fuel and cataract in South India

John M. Neesemann, MD, MSc^{1,2,3*} Muthiah Srinivasan, MD,^{4*} Ravilla Duraisami Ravindran, MD,⁴ Tansy Edwards, MSc, PhD,³ Kieran S. O'Brien, PhD, MPH,^{1,6} Usha R. Kim, MD,⁵ John H. Wilkins, MD,⁶ John P. Whitcher, MD, MPH,^{1,7} Thomas M. Lietman, MD,^{1,7,8,9} David C. Gritz, MD,⁹ Jeremy D. Keenan, MD, MPH^{1,7}

¹ Francis I Proctor Foundation, University of California, San Francisco, USA

² David Geffen School of Medicine, University of California, Los Angeles, USA

³ International Statistics and Epidemiology Group, London School of Hygiene and Tropical Medicine, United Kingdom

⁴ Aravind Eye Care System, Madurai, Tamil Nadu, India

⁵ Casey Eye Institute, Oregon Health Sciences University and Lions VisionGift, Portland, OR, USA

⁶ Department of Ophthalmology, University of California, San Francisco, USA

⁷ Department of Epidemiology & Biostatistics, University of California, San Francisco, USA

⁸ Institute for Global Health, University of California, San Francisco, CA, USA

⁹ Johns Hopkins Wilmer Eye Institute, Johns Hopkins University, Baltimore, MD

* These authors contributed equally.

Meeting presentations: None

Corresponding author: John M. Neesemann
10833 Le Conte Ave, Los Angeles, CA 90095
Tel: 571-217-7866
Email: John.Neesemann@ucsf.edu

Text words: 3048

Abstract words: 229

Figures: 0

Tables: 4

Supplemental Files: 6 (Supplemental Material available at AJO.com)

Abstract

Purpose. Unclean cooking fuels such as wood and kerosene have been associated with cataract in cross-sectional studies. This study sought to determine whether exposure to unclean cooking fuels was associated with subsequent cataract progression.

Design. Prospective cohort study.

Methods. This is a secondary observational analysis of the community-based Antioxidants in Prevention of Cataracts trial (ClinicalTrials.gov ID NCT01664819). The exposure of interest was cooking fuel type, measured at baseline. Main outcome measures were baseline cataract severity and self-reported cataract surgery at a 15-year visit.

Results. Baseline and 15-year follow-up data were available for 798 and 579 participants, respectively. Wood or kerosene was used by 711/798 (89.1%) baseline participants, including 539/579 (93.1%) participants with complete follow-up. Cooking fuel type was not associated with cataract severity at baseline ($p=0.443$). Out of 8,334 person-years of follow up, 90 cataract surgeries were observed over 15 years (1.08 surgeries per 100 person-years; 95%CI 0.87-1.32). Use of wood or kerosene was not associated with 15-year incidence of cataract surgery relative to individuals using propane (adjusted $p=0.154$). Cataract surgery was more common in older individuals (HR 1.1 per year, 95%CI 1.1-1.2, $p<0.001$), those with baseline myopia (HR 2.1, 95%CI 1.2-3.5, $p=0.009$) and women (HR 3.5, 95%CI 1.2 to 10.1, $p=0.019$).

Conclusions. This study found no association between unclean cooking fuels and cataract progression over a 15-year period. No other modifiable risk factors were associated with incident self-reported cataract surgery.

Introduction.

Cataract is the primary cause of blindness worldwide, and unoperated cataract disproportionately affects those in low- and middle-income countries.¹⁻³ Laboratory studies have shown that cigarette smoke and wood cooking fuel smoke condensates can induce cataract formation in rat models, likely through the formation of reactive oxygen species; however, the available epidemiological evidence for the effects of cooking fuel smoke on human cataract formation is sparse.⁴ Cooking fuels can be classified as unclean (i.e., solid fuels [e.g., wood, dung, coal], and kerosene) and clean (e.g., propane, liquified petroleum gas, electricity, and solar), based on the fact that unclean fuels produce harmful chemicals (e.g., carbon monoxide and polycyclic aromatic hydrocarbons) during combustion which can contribute to adverse health outcomes.^{5,6} Several studies have found higher odds of cataract in individuals exposed to unclean cooking fuels relative to those using cleaner cooking fuels, but they have been exclusively cross-sectional or case-control studies.⁷⁻¹² Thus, a more in-depth analysis of the effects of cooking fuel on cataract severity and surgery is warranted. This is especially relevant in a place like South India given the high number of households using unclean cooking fuels,¹³ the high prevalence and early onset of cataract,^{14,15} and the high proportion of individuals requiring eye care not using existing eye care services.¹⁶

The aim of this study was to investigate whether exposure to different types of cooking fuels was related to cataract severity and need for cataract surgery over a 15-year follow-up period. We hypothesized that exposure to unclean cooking fuels (i.e., wood or kerosene) would be associated with (1) the severity of nuclear sclerotic, cortical spoking, and posterior subcapsular (PSC) cataract in a cross-sectional analysis of baseline data, and (2) cataract progression, measured by a proxy of cataract surgery in a longitudinal analysis.

Materials and methods.

Dataset, study population, and setting. This study is a secondary, non-pre-specified, observational analysis of data collected for the Antioxidants in Prevention of Cataracts (APC) trial that took place in 5 peri-urban villages surrounding Madurai, India.¹⁷ The original trial was conducted from May 1998 until June 2003 and a 15-year follow-up visit (ClinicalTrials.gov ID NCT01664819) was performed from August 2012 until July 2013. The original aim of the trial was to determine if antioxidant supplementation could slow the 5-year rate of cataract progression among individuals aged 35-50 years of age; the aim of the 15-year follow up was to assess for a long-term effect of antioxidant therapy and to identify risk factors for incident cataract. The inclusion and exclusion criteria, examination techniques, and data collection methods of the trial have been detailed elsewhere.¹⁸ Neither the trial nor the

follow-up demonstrated benefits of vitamin supplementation.^{17,19} Prospective ethical approval for the clinical trial and 15-year follow-up was obtained from the University of California San Francisco and Aravind Eye Hospital; ethical approval for this secondary analysis was obtained from the London School of Hygiene and Tropical Medicine. Informed consent was obtained from all participants. The study was in accordance with the Health Insurance Portability and Accountability Act (HIPAA) regulations and adhered to the tenets of the Declaration of Helsinki.

Data collection and management. Methods for the baseline study visit have been described in detail previously.¹⁸ Participants underwent a full medical and ophthalmologic examination. Cataract severity was assessed by three masked graders according to the Lens Opacities Classification System III scale (LOCS III).²⁰ Specifically, nuclear opalescence, cortical opacity, and PSC opacity were each evaluated on a 0.1-unit increment scale, with higher numbers corresponding to more severe cataract. Demographic information, including socioeconomic status (SES) and education, was collected at baseline as was information on cataract risk factors. Participants were asked about their role in cooking (i.e., primary cook or not) and the type of cooking fuel most used in their household. At the 15-year follow-up visit, study workers made household visits for all participants in the trial, documenting vital status (i.e., alive, died, or moved) and asking if and when they had

undergone cataract surgery. Vital status of missing participants was determined from household members or neighbors.

Definitions and conventions. Baseline cataract severity on the LOCS III scale was averaged between three graders and treated as a continuous variable. A binary indicator of self-reported cataract surgery in either eye was used as the primary outcome for the 15-year analysis. The categorization of the remaining variables is described in Supplemental File 1.

Statistical methods.

Cataract severity. A complete-case cross-sectional analysis of baseline eye-level data was performed. The outcome of interest was a multivariate indicator for cataract severity (i.e., LOCS III scores for each of three outcomes: nuclear opalescence, cortical opacity, and PSC). First, univariable associations between each baseline factor and multivariate cataract severity was assessed, then a multivariable model was built to explore the association between cataract severity and cooking fuel type (i.e., wood vs. kerosene oil vs. propane gas). The model was adjusted for age, sex, SES, occupation, smoking status, sunlight exposure, best corrected visual acuity (BCVA), and refractive error *a priori*, given these are risk factors thought to be important for development of one or more type of cataract.²¹⁻²³ Additionally, the model was adjusted for the participant's involvement in cooking as those involved

in cooking would theoretically be exposed to more cooking fuel smoke, and for any baseline covariates with a p-value < 0.1 in the univariable analyses. A multivariate generalized least squares regression model was implemented, specifying different variances for each type of cataract severity score and an unstructured correlation matrix to account for correlation of observations from the same study participant (*nlme* package in R statistical software).^{24,25} Statistical significance of regression coefficients was assessed with an F-test (i.e., testing the null hypothesis that cataract severity score means were equal across all groups of the independent variable). A sex by cooking fuel interaction term was explored but was not statistically significant and therefore not included in the final model. A sensitivity analysis was performed by fitting a multivariate linear regression model to person-level data with the cataract severity scores in the worst eye as the multivariate outcome and refractive error in the worst eye and BCVA in the better eye as eye-level covariables. As the data came from a completed clinical trial the sample size was fixed. Using a t-test as an approximation, the sample size of 798 would provide 80% power to detect a difference in mean cataract severity score of at least 0.4 between any two exposure groups, given 85% of participants were exposed, a mean cataract severity score of 2.2 in the unexposed group, equal standard deviations of 0.5 in both groups, and a two-sided alpha of 0.05. In practice, the significance level was set to 0.001 to account for multiple comparisons.

Cataract progression. A complete-case longitudinal analysis of participant-level data was performed. The outcome of interest was a binary indicator of cataract progression (i.e., self-reported cataract surgery in either eye). A Cox-proportional hazards model was implemented in R statistical software, first with univariable analyses of baseline factors, and then with a multivariable analysis whose exposure of interest was cooking fuel type.²⁶ Refractive error for the worse eye and BCVA for the better eye was used for each participant. Start time was defined as the date enrolled in the trial and censor time was defined as the date of cataract surgery, the date deceased, or the time of 15-year follow up. In the case of loss to follow up, censor time was assumed to occur at the study midpoint, with a sensitivity analysis conducted on only those with complete follow up. The model was adjusted for baseline age, sex, SES, occupation, smoking status, sunlight exposure, BCVA, and refractive error *a priori*. Additional baseline risk factors with a p-value ≤ 0.1 in univariable analysis were added to the final model. A sex by cooking fuel interaction term was explored but was not statistically significant and therefore not included in the final model. The sample size was fixed according to the underlying trial, with 579 individuals having completed follow up at 15 years. The available sample provided 80% power to detect a difference in proportions of 0.46 between any two exposure groups, assuming 85% of participants were exposed, 20% of controls experienced the outcome, and a two-sided alpha 0.05, though as mentioned above, the significance level was set to 0.001 to account for multiple comparisons.

Given neither the clinical trial nor 15-year follow-up found any benefit of antioxidant supplementation, trial arm was not adjusted for in the Cox regression analysis.^{17,19}

Results.

A total of 798 participants (1,596 study eyes) were enrolled. At the baseline visit 1,156 (72.4%) eyes had nuclear opalescence at the ≥ 2 LOCS III threshold; 161 (10.1%) eye had cortical changes at the ≥ 1 threshold; and 21 (1.3%) eyes had PSC changes at the ≥ 1 threshold (Supplemental Table 1). Mean LOCS III scores were 2.3 (SD 0.5), 0.5 (SD 0.5), and 0.1 (SD 0.2) for nuclear, cortical, and PSC cataracts, respectively. Many eyes had more than one type of cataract, with positive correlation of severity scores between the different types of cataract ($p < 0.001$ for each pairwise comparison; Supplemental Figure 1). Of the 798 participants at baseline, 579 (72.6%) completed follow up at 15 years while 68 (8.5%) had died, and 151 (18.9%) were lost to follow up. There was a total of 8,334 person-years of follow up and 90 cataract surgeries in 579 individuals for an overall rate of 1.08 cataract surgeries per 100 person-years (95%CI 0.87 to 1.32).

Characteristics of participants enrolled at baseline (i.e., the cross-sectional sample) as well as those participating in the 15-year study visit (i.e., the longitudinal sample) are summarized in Table 1. The mean age at baseline

was 40.8 (SD 5.1) and the majority were female (N=489, 61.3%). Wood or kerosene cooking fuel was used by 711 (89.1%) participants in the cross-sectional sample and 539 (93.1%) participants in the longitudinal sample. The distribution of most baseline variables was similar between participants at baseline and 15-year follow up (Table 1 for person-level statistics and Supplemental Table 1 for eye-level statistics). Participants and non-participants of the 15-year study visit had similar baseline characteristics except non-participants were more likely to have been overweight, less likely to have been employed in agricultural work, and less likely to have been exposed to large amounts of sunlight. Non-participants were also more likely to have missing baseline data (Table 1).

Univariable cross-sectional associations between each variable and baseline cataract severity are shown in Supplemental Table 2, and the results of the adjusted model are shown in Table 2. After adjustment, there was little evidence of an association between cooking fuel and cataract ($p = 0.443$). Variables that were associated with cataract severity in the multivariable analysis included age, female sex, myopia, and BCVA worse than 20/20, each of which were associated with more severe cataract, and higher SES which was associated with less severe cataract ($p < 0.001$ for each, Table 2). Results of the person-level sensitivity analysis to predict cataract severity in the worse eye were largely the same except that sunlight exposure and BMI

were more strongly associated with cataract severity (Supplemental Table 4).

Results of the univariable Cox models exploring associations between baseline factors and subsequent self-reported cataract surgery are summarized in Supplemental Table 3 and results from adjusted models in Table 3. Individuals reporting use of wood cooking fuel at baseline had a higher rate of subsequent cataract surgery compared with propane-users (HR 2.0, 95%CI 0.3 to 11.1), as did kerosene-users (HR 3.8, 95%CI 0.8 to 19.0)—a weak association that did not approach statistical significance when assessing for differences between the three groups separately ($p = 0.154$) or when comparing the wood and kerosene groups versus the propane group ($p = 0.142$). Age was strongly associated with higher rates of cataract surgery (HR 1.2, 95%CI 1.1 to 1.2); myopia (HR 2.1, 95%CI 1.2 to 3.5) and female sex (HR 3.5, 95%CI 1.2 to 10.1) had weaker associations that did not meet the predetermined level of statistical significance. The results of the sensitivity analyses including only those with complete follow up led to similar results (Table 4).

Discussion.

The present study failed to find a significant association between exposure to unclean cooking fuel and the severity of nuclear, cortical, or PSC cataract or

cataract surgery over 15 years. In a multivariable analysis of cross-sectional data, cataract severity was associated with age, myopia, BCVA worse than 20/20, female sex and low SES. In a multivariable analysis of longitudinal data, incident cataract surgery was associated with increasing age and had weaker non-significant associations with myopia and female sex.

The results from the present study add to the conflicting body of literature regarding the effects of cooking fuel on cataract. Several case control and cross-sectional studies have found increased odds of cataract,¹¹ although many of these did not adjust for confounders and lacked information on case selection.^{8-10,12} More recent studies have addressed some of the methodological concerns. Ravilla and colleagues found that lifetime years of biomass cooking fuel use were associated with increased odds of nuclear cataract in women, but not men, in an Indian population that primarily used non-ventilated cook-stoves.¹¹ Pokhrel's case-control study found that use of an unventilated solid fuel stove was associated with higher odds of cataract while use of a ventilated stove was not.⁸ Krishnaiah found no increased odds of cataract among individuals using unclean fuels (e.g., wood, leaves, or cow dung) after adjustment for extensive confounders and risk factors in the Andhra Pradesh Eye Disease Study.²⁷ A large, six-country study found a strong association between solid fuels and kerosene and cataract in India and China but not in other countries; however, the study did not adjust for confounders such as sun exposure.²⁸ No longitudinal studies of cooking fuel

exposure and cataract risk have yet been published to the knowledge of the authors. Our point estimates for the longitudinal analysis are consistent with the hypothesis that unclean cooking fuels such as kerosene and wood increase the risk of cataract (i.e., higher rates of cataract surgery for wood and kerosene, and lower rates for propane); however, the confidence intervals were wide, and the association was not statistically significant. It is possible that factors interacting with cooking fuel (e.g., amount of kitchen ventilation, which can influence concentration of combustion products) could be important for cataract formation, but also possible that cooking fuel is not a risk factor for cataract severity or surgery.

The prevalence of baseline opacities was similar to that of individuals aged 40-49 in another study conducted in the same region of India.¹⁵ As has been reported in numerous other studies, age was strongly associated with nuclear, cortical, and PSC cataract severity and cataract surgery over 15 years.²⁹⁻³² Female sex was associated with more severe nuclear and cortical cataract, in agreement with previous studies,^{27,30,33} including a 2004 study conducted in the same study area.¹⁵ Females also had a higher rate of cataract surgery than men, in contrast with what has been reported elsewhere;³³ however, this association was weak. Being in charge of cooking—a task typically done by women in this part of India—was also associated with less severe cataract in the cross-sectional analyses, although not in the longitudinal analyses. The relationship between sex and cataract is likely

complex and may depend on numerous other risk factors, such as whether those in charge of cooking are using ventilated stoves.⁸⁻

Sun exposure was associated with more severe nuclear cataract in the cross-sectional analysis, in line with previous studies;³⁴ however, the p-value for this association did not meet the predetermined threshold for significance. Sun exposure was not associated with the rate of cataract surgery over 15 years, in contrast to a 2018 cohort study which found higher rates of cataract surgery in the highest quintile of sunlight exposure.³⁵ This discrepancy may be explained by measurement error as sunlight exposure was assessed through self-response, did not take protective gear or meteorological data into account,³⁶ and was assumed to be constant for the 15 years of follow up.

Snuff or betel use was not associated with more severe cataract at baseline, but individuals who reported high use had a higher rate of cataract surgery over 15-years (HR 1.9, 95%CI 1.0 to 3.4). These findings are consistent with a cross-sectional study that found an increased odds of cataract in smokeless tobacco users after adjusting for age and sex.³⁷ The association between smoking and subsequent cataract has not been consistent in prior reports.^{38,39} In the present study, smoking was not a significant risk factor for subsequent cataract surgery. The study did not stratify analyses on type of tobacco, but it is worth noting that the smaller cigarettes (i.e., beedis) widely

used in India have a lower daily inhalation dose compared to cigarettes and have not been associated with cataract in other cross sectional analyses.²⁷

In line with previous studies, myopes had more severe nuclear cataracts in cross-sectional analysis.⁴⁰⁻⁴² The cross-sectional relationship may be due to nuclear sclerosis causing a myopic shift, but it is less clear whether myopia itself is a risk factor for subsequent cataract progression.^{41,42} In the present study, myopes had increased rates of cataract surgery in the longitudinal analysis, though results did not reach predetermined statistical significance.

The present study's main novelty is its longitudinal analysis of cooking fuel as a risk factor for cataract. Strengths of the study are its inclusion of a broad set of risk factors, analysis stratified by cataract type, and evaluation of risk factors over a long follow-up period. The study also has limitations. Cataract surgery was self-reported, which could have resulted in misclassification, although this would be expected to be non-differential and bias the effect towards the null. It was not logistically or financially feasible to verify self-reported surgery or assess pre-operative cataract severity from medical records. Cooking fuel exposure ascertainment did not include data about combinations of fuels, daily number of meals cooked, length of time spent near the stove, ventilation of the stove or in the home, and other sources of indoor air pollution, which could have led to measurement error and information bias. Moreover, baseline cooking fuel exposure did not

account for change in use over time.¹¹ This would likely have biased the estimated effect of cooking fuel on cataract surgery towards the null, since economic development over 15 years would likely have led to cleaner fuel sources among all participants, reducing differences in exposure. The generalizability of the study results to areas outside South India is uncertain, given potential differences in cooking fuel practices and other risk factors. The generalizability of the results even to similar areas of South India should be viewed with caution since the cohort met relatively strict criteria for participation in the clinical trial.

In conclusion, this study did not find strong evidence that unclean cooking fuel was related to cataract severity or need for cataract surgery over 15 years in this South Indian population. Our study confirmed several risk factors for cataract, strengthening confidence in the data. Future studies of this relationship should employ comprehensive questionnaires to determine years exposed to cooking fuel, other indoor pollutants, and ventilation and periodic follow up to generate time-updated exposure variables.

Alternatively, the use of personal monitors or more complex statistical methods could be employed to more accurately measure exposure to products of biomass fuel combustion, as has been reported elsewhere.⁴³

Acknowledgements.

a. Funding/Support. This project was supported by the Francis I. Proctor Foundation's South Asia Research Fund; Aravind Eye Hospital's Lions International Aravind Community Outreach Center; the Peierls Foundation; the Jack and DeLoris Lange Foundation; the Harper-Inglis Trust; That Man May See; and Research to Prevent Blindness.

b. Financial disclosures. No financial disclosures.

c. Other Acknowledgements. We want to thank the University of California Los Angeles Office of Advance Research and computing (OARC), specifically Siavash Jalal and Andy Lin for their advice on statistical analyses and interpretation.

Reference list.

1. Vision Loss Expert Group of the Global Burden of Disease Study. Causes of blindness and vision impairment in 2020 and trends over 30 years, and prevalence of avoidable blindness in relation to VISION 2020: the Right to Sight: an analysis for the Global Burden of Disease Study. *Lancet Glob Health*. 2021;9(2):e144-e160.
2. Ono K, Hiratsuka Y, Murakami A. Global inequality in eye health: country-level analysis from the Global Burden of Disease Study. *Am J Public Health*. 2010;100(9):1784-1788.
3. Flaxman SR, Bourne RRA, Resnikoff S, et al. Global causes of blindness and distance vision impairment 1990-2020: a systematic review and meta-analysis. *Lancet Glob Health*. 2017;5(12):e1221-e1234.
4. Shalini VK, Luthra M, Srinivas L, et al. Oxidative damage to the eye lens caused by cigarette smoke and fuel smoke condensates. *Indian J Biochem Biophys*. 1994;31(4):261-266.
5. Ragland KW, Andren AW, Manchester JB. Emissions from unvented kerosene heaters. *Science of The Total Environment*. 1985;46(1):171-179.
6. World Health Organization. WHO indoor air quality guidelines: household fuel combustion. In: *WHO indoor air quality guidelines: household fuel combustion*. 2014.
7. Patel M, Shrestha MK, Manandhar A, et al. Effect of exposure to biomass smoke from cooking fuel types and eye disorders in women from hilly and plain regions of Nepal. *Br J Ophthalmol*. 2020;106(1):141-148.
8. Pokhrel AK, Smith KR, Khalakdina A, Deuja A, Bates MN. Case-control study of indoor cooking smoke exposure and cataract in Nepal and India. *Int J Epidemiol*. 2005;34(3):702-708.
9. Das GK, Boriwal K, Chhabra P, Sahu PK, Kumar S, Kumar N. Presenile cataract and its risk factors: A case control study. *J Family Med Prim Care*. 2019;8(6):2120-2123.
10. Saha A, Kulkarni PK, Shah A, Patel M, Saiyed HN. Ocular morbidity and fuel use: an experience from India. *Occup Environ Med*. 2005;62(1):66-69.
11. Ravilla TD, Gupta S, Ravindran RD, et al. Use of Cooking Fuels and Cataract in a Population-Based Study: The India Eye Disease Study. *Environ Health Perspect*. 2016;124(12):1857-1862.
12. Tanchangya J, Geater AF. Use of traditional cooking fuels and the risk of young adult cataract in rural Bangladesh: a hospital-based case-control study. *BMC Ophthalmol*. 2011;11:16.
13. International Institute for Population Sciences, ICF. *National Family Health Survey (NFHS-4), 2015-16*. Mumbai, India: International Institute for Population Sciences (IIPS); 2017.
14. Thulasiraj RD, Nirmalan PK, Ramakrishnan R, et al. Blindness and vision impairment in a rural south Indian population: the Aravind Comprehensive Eye Survey. *Ophthalmology*. 2003;110(8):1491-1498.
15. Nirmalan PK, Robin AL, Katz J, et al. Risk factors for age related cataract in a rural population of southern India: the Aravind Comprehensive Eye Study. *Br J Ophthalmol*. 2004;88(8):989-994.
16. Nirmalan PK, Katz J, Robin AL, et al. Utilisation of eye care services in rural south India: the Aravind Comprehensive Eye Survey. *Br J Ophthalmol*. 2004;88(10):1237-1241.

17. Gritz DC, Srinivasan M, Smith SD, et al. The Antioxidants in Prevention of Cataracts Study: effects of antioxidant supplements on cataract progression in South India. *Br J Ophthalmol*. 2006;90(7):847-851.
18. Gritz DC, Srinivasan M, Smith SD, et al. Antioxidants in prevention of cataracts in South India: methodology and baseline data. *Ophthalmic Epidemiol*. 2006;13(2):97-107.
19. Srinivasan M, Ravindran RD, O'Brien KS, et al. Antioxidant Vitamins for Cataracts: 15-Year Follow-up of a Randomized Trial. *Ophthalmology*. 2020;127(7):986-987.
20. Chylack LT, Jr., Wolfe JK, Singer DM, et al. The Lens Opacities Classification System III. The Longitudinal Study of Cataract Study Group. *Archives of ophthalmology (Chicago, Ill : 1960)*. 1993;111(6):831-836.
21. Hodge WG, Whitcher JP, Satariano W. Risk factors for age-related cataracts. *Epidemiol Rev*. 1995;17(2):336-346.
22. Lou L, Ye X, Xu P, et al. Association of Sex With the Global Burden of Cataract. *JAMA Ophthalmol*. 2018;136(2):116-121.
23. McCarty CA, Mukesh BN, Fu CL, Taylor HR. The epidemiology of cataract in Australia. *Am J Ophthalmol*. 1999;128(4):446-465.
24. Pinheiro J, Bates D, DebRoy S, Sarkar D, Team RC. Linear and nonlinear mixed effects models. *R package version*. 2007;3(57):1-89.
25. Pinheiro J, Bates D. *Mixed-effects models in S and S-PLUS*. New York: Springer Science & Business Media; 2006.
26. Team R Core. *R: A language and environment for statistical computing*. Vienna: R Foundation for Statistical Computing; 2013.
27. Krishnaiah S, Vilas K, Shamanna BR, Rao GN, Thomas R, Balasubramanian D. Smoking and Its Association with Cataract: Results of the Andhra Pradesh Eye Disease Study from India. *Invest Ophthalmol Vis Sci*. 2005;46(1):58-65.
28. Li X, Guo Y, Liu T, et al. The association of cooking fuels with cataract among adults aged 50 years and older in low- and middle-income countries: Results from the WHO Study on global AGEing and adult health (SAGE). *Sci Total Environ*. 2021;790:148093.
29. Richter GM, Torres M, Choudhury F, Azen SP, Varma R. Risk factors for cortical, nuclear, posterior subcapsular, and mixed lens opacities: the Los Angeles Latino Eye Study. *Ophthalmology*. 2012;119(3):547-554.
30. Garrigan H, Ifantides C, Prashanthi GS, Das AV. Biogeographical and Altitudinal Distribution of Cataract: A Nine-Year Experience Using Electronic Medical Record-Driven Big Data Analytics in India. *Ophthalmic Epidemiol*. 2020:1-8.
31. Singh S, Pardhan S, Kulothungan V, et al. The prevalence and risk factors for cataract in rural and urban India. *Indian J Ophthalmol*. 2019;67(4):477-483.
32. Zhang JS, Xu L, Wang YX, You QS, Wang JD, Jonas JB. Five-year incidence of age-related cataract and cataract surgery in the adult population of greater Beijing: the Beijing Eye Study. *Ophthalmology*. 2011;118(4):711-718.
33. Lewallen S, Courtright P. Gender and use of cataract surgical services in developing countries. *Bull World Health Organ*. 2002;80(4):300-303.
34. Collman GW, Shore DL, Shy CM, Checkoway H, Luria AS. Sunlight and other risk factors for cataracts: an epidemiologic study. *Am J Public Health*. 1988;78(11):1459-1462.

35. Delavar A, Freedman DM, Velazquez-Kronen R, et al. Ultraviolet radiation and incidence of cataracts in a nationwide US cohort. *Ophthalmic Epidemiol.* 2018;25(5-6):403-411.
36. Pastor-Valero M, Fletcher AE, de Stavola BL, Chaqués-Alepúz V. Years of sunlight exposure and cataract: a case-control study in a Mediterranean population. *BMC Ophthalmol.* 2007;7:18.
37. Raju P, George R, Ve Ramesh S, Arvind H, Baskaran M, Vijaya L. Influence of tobacco use on cataract development. *Br J Ophthalmol.* 2006;90(11):1374-1377.
38. Tan JS, Wang JJ, Younan C, Cumming RG, Rochtchina E, Mitchell P. Smoking and the long-term incidence of cataract: the Blue Mountains Eye Study. *Ophthalmic Epidemiol.* 2008;15(3):155-161.
39. Klein BE, Klein RE, Lee KE. Incident cataract after a five-year interval and lifestyle factors: the Beaver Dam eye study. *Ophthalmic Epidemiol.* 1999;6(4):247-255.
40. Kubo E, Kumamoto Y, Tsuzuki S, Akagi Y. Axial Length, Myopia, and the Severity of Lens Opacity at the Time of Cataract Surgery. *Archives of Ophthalmology.* 2006;124(11):1586-1590.
41. Lim R, Mitchell P, Cumming RG. Refractive associations with cataract: the Blue Mountains Eye Study. *Invest Ophthalmol Vis Sci.* 1999;40(12):3021-3026.
42. Chang MA, Congdon NG, Bykhovskaya I, Munoz B, West SK. The association between myopia and various subtypes of lens opacity: SEE (Salisbury Eye Evaluation) project. *Ophthalmology.* 2005;112(8):1395-1401.
43. Dionisio KL, Howie SR, Dominici F, et al. Household concentrations and exposure of children to particulate matter from biomass fuels in The Gambia. *Environ Sci Technol.* 2012;46(6):3519-3527.

Tables and Figures Captions.

Table 1. Characteristics of the study population at baseline. Data shown for total trial population and stratified by those who completed a 15-year follow-up visit versus those who were lost to follow-up (LTFU) or died.

Table 2. Results of eye-level multivariable multivariate regression model exploring the association between cook fuel exposure and cataract severity. Cross-sectional baseline data was modeled for 1,454 eyes with complete data; the model was adjusted for all the variables listed in the table. Clustering of eye-level variables within the same individual was accounted for using a generalized least squares model.

Table 3. Results of multivariable, person-level Cox models exploring the association between cooking fuel exposure and cataract surgery over 15 years. The estimates presented are hazard ratios for cataract surgery in either eye over 15 years of follow up and include 729 people with complete data at baseline.

Table 4. Results of multivariable person-level sensitivity Cox model exploring the association between cooking fuel exposure and cataract surgery over 15 years. The estimates presented are hazard

ratios for cataract surgery in either eye over 15 years of follow up and include 545 people with complete data at follow up.